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Theory of mercantilism





Theory of Comparative Advantage

 Comparative advantage is where a nation is able to produce a

product at a lower opportunity cost. In other words, a nation

sacrifices less of Good A to produce Good B than other nations.

This is in sharp contrast to absolute advantage because a nation

can have a comparative advantage but not actually be more

efficient than other countries.

 The law of comparative advantage was originally introduced by

David Ricardo back in 1817. He defined it as a state by which

one nation was more efficient at producing a certain good than

another. However, unlike absolute advantage, comparative

advantage considers opportunity cost.

https://boycewire.com/opportunity-cost-definition
https://boycewire.com/absolute-advantage-definition/
https://en.wikipedia.org/wiki/David_Ricardo
https://boycewire.com/opportunity-cost-definition


Comparative Advantage Illustrated

Rice Wheat

India 100

1 Rice = 2 Wheat

200

1 Wheat = .5 

Rice

Bangladesh 80

1 Rice = 1.25 

Wheat

100

1 Wheat = .8 

Rice



• India and Bangladesh produce both wheat and potatoes.

• India can produce either 200 kilograms of wheat or 100 kilograms of Rice

• As a result, 200kg of wheat = 100kg of Rice

• So for each 1kg of Rice, India must forego 2kg of Wheat.

• The opportunity cost is therefore what the nation foregoes to produce the 
other product.

• So its opportunity cost of producing Rice would be 2 ÷ 1 = 2.

• By contrast, the opportunity cost of producing Wheat is much smaller: 1 ÷ 2 = 
0.5.

 By contrast, Bangladesh can produce either 80 kilograms of Rice or 100 
kilograms of Wheat.

• So 80kg of Rice = 100kg of Wheat.

• And for each 1kg of Rice, Bangladesh must forgo 1.25 kg of Wheat.

• Therefore, the opportunity cost to Bangladesh of producing Rice would be 
1.25 ÷ 1 = 1.25

• By contrast, the opportunity cost of producing Wheat is 1 ÷ 1.25 = 0.8



Identifying Comparative Advantage

 The table above depicts that India has an absolute advantage
in producing both Wheat and Rice. However, which country has
a comparative advantage?

 We can tell this by first looking at the product and then
comparing the opportunity cost to each country. So in this
example, the opportunity cost of making Rice in India is 2
Wheat. By contrast, it is only 1.25 in Bangladesh. Therefore,
the country that has the lowest opportunity cost has the
comparative advantage. So in this case, India would have the
comparative advantage in Wheat production and should focus
on this.

 If we now look to the production of Wheat, India has an
opportunity cost of 0.5. In other words, it must sacrifice 0.5
Rice. At the same time, Bangladesh has an opportunity cost of
0.8. So when we look at the nation with the lower opportunity
cost, it would be India that has the comparative advantage.
Therefore, India should focus on producing Wheat, whilst
Bangladesh focuses on Rice.



Comparative Advantage: Definition, How to 

Calculate & Examples

 https://boycewire.com/comparative-advantage-definition/

https://boycewire.com/comparative-advantage-definition/






Factor Endowment and Heckscher-

Ohlin Theory



Heckscher- Ohlin Theory







Wassilly Leontief (1906-1999)

Nobel Prize in 1973
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